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Gl |
L,
s

You have been called for the written test based on the online data furnished by you in the web application.

If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. 9T, 80 WAl B g WMA-GRFAF F ®a A G 3N wlew & @ 02 v |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. 9R faFeul Aftd srgfass vR & we g o & % o swifeew w0 & wEr Qe |
The questions will be objective type with four options out of which only one will be unambiguously correct.

4, UA® 9T FAT 04 3% g R 9AF 99 3ol FTAT UF 3 Fer AT |

Each question camies 04 marks and one mark will be deducted for each wrong answer.

5. WAl & e & o ToIT 3er9T INTHINR Iec-qReetert & wmeah|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 3T, ScR-GRCTHI A T T IEASAT & ITAR, ArI/HIeN T8 & aier S 97 & HTHAIR Jeck-
qfeeterT & TaTta Jifae 1 3ifhe i Ve 3ok 1 95 AT E |

You have to select the right answer by marking the corresponding oval on the OMR answer shest by
blue/black ball point pen as per the instructions given in the answer sheet.

7. UFH R & [T 3eh Sea ITeicd AT SITTam|
Multiple answers for a question will be regarded as wrong answer.
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8. maﬁaﬂﬁﬁgﬁaw&a&%aﬂgmmgﬁaﬁwﬁﬁwmwmml

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the space
provided.

9.  WeA-Gf¥aeT 3 TR ATH TUT IeThAh Tl o |

Enter your Name and Roll Number correctly in the question booklet.

10. mwmm-gﬁamﬁmﬂqﬁﬁaimmmﬁ*ahmw#aﬂmaﬂ%m
All entries in the OMR answer sheet should be with blue/black ball point pen only.

11, qfier gier 31 AT $r 3ufRafy & & snue gia-Rec/wIRiand I gEdeR ar e

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

12, Tof@d ofieT geeidrs e & el e, FaFecy, Hlargel Plel JUT ey Feaclinn i, ed-
Ecich, Sl H1fe oY B Hiefafl et & S]]

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

13.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand

over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14, A-YfEaeT 3730f 319 9T 3@ ehd

The question booklet can be retained by the candidate.

15.  odieT & wuH U & SR 39Tt ofieT gler siga i g A 8

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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TECHNICIAN B (BLACKSMITHY) — POST NO.1400

TS AT oo, g aafRa g

The term ‘Brinnel’ is related to

(a) THATToughness (b)  EFA/Strength
(c) FORATHardness {d) FlﬁTWFITfT enacity

mmﬁ%rﬁ%%ﬁmﬁ%ﬁﬁ%%mmﬂw%m%?

Which one of the following forge tools is used for finishing flat surface?

(a) TASTH/Swages (b) T ™F/Cold set
() Rf%FFlatter (d) Pe/Fuller

SIS AR TN Bl Bloled FXe T AeTonaa 7 & R ofoa o 3uzier R s &2

Which among the following tongs is used while forging hexagonal bar stock?
(@ 3= E."IUW/ Gad tong

b wTsefag Felcs Aty Straight-lip fluted tong

() Ter Eﬁ?/Ring tong

(d) T TeH/Flat tong

e F T AT oo, £l
Three classes of fit are
@ e fhe, ZifeeT fre, Zrefhats 52/ Clearance fit, transition fit, interference fit

(b) #Hifeu= fpe, 931 five, T18e fFe/Medium fit, push fit, tight fit
() ¥engfE e, 7 fire, fAisst RFe/Sliding fit, loose fit, shrinkage fit
(@) ele fthe, 53 e, FFaaX Re/Flat fit, round fit, square fit

frrafef@a 7 @ #la-ar Fiaror 6 ve Ry a8t o

Which among the following is not a mode of heat transfer?

(@) TTIA/Conduction (b) HAEA/Convection

(¢) fafFUT/Radiation (d) TRIEIA/Reflection

5 FTZSPIAT BT HTT .o, &

Value of 5 microns is mm

(@ 0.005 (b) 0.05 ) 05 @d 5.0
.............................. T e & Aesv

Solder is an alloy of

(a) T 7 5i®/Tin and zinc (b) AE TR/ Lead and Tin

(c) B TTS®/Lead and Zinc (d) 5% 9 @$d/Zinc and Nickel
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10.

11.

12.

13.

Files are made of
(a) 3ed a1 SEUT/Low carbon steel (b) Zeidl dilgl/Cast Iron
(c) HTOFe ST/ High Carbonsteel  (d)  ITU I9T $¥AIA/High speed steel

g&rmﬁ%ﬁr@mﬁaﬁaﬁaﬁmmhmmaﬂwﬁ .............................
Zanr faeifRe Rear STar gl

A steel is being heated for hand forging. The temperature of the steel is assessed by
(a) sHaId & T TET/Heat color of steel

(b) T W ATIHTT ATYA/Temperature measurement on steel

(c) NAFTY T3T/Heat color of fire

(d) TEI & AT H sadfid A/ Time the steel spent in fire

el TR FTE A Pl yaTer & ERIA Hiat A AR & AT e T IIAIT
T AT gl

During forging operation, s used for finishing corners in a shouldered work
(a) BT EAV/Set Hammer (b) Foc/Mallet
(c) Toigot eAVSledge Hammer (d) 21 §HY/Drop Hammer

cpler- rsieT T # it Y i e et P e §7
In which forging process, the parts are heated in closed hearth?
(a) FM Frsiel/Machine forging

(b) &Ed Bisied/Hand Forging

(c) el T g il Blotet/both machine and hand forging
(d) 3¢{iﬁ #  va 9 FE1/None of the above

Erer £ 30 FreT # 3R FEd & TIEe S & A Y A ol GiETS Y SordT STl 87

Forging method, in which diameter of the bar is reduced and length is increased is called

(a) tI'JZI‘IFF-UUpsetting (b) T9ETehI0T/Flattening
(c) NUI/Edging (d @rdd/Fullering
Ry WIS e A a1 a1 wereil ol TR B ARRAT AT oo FEcl 6
Process of removing burrs or flash from a forged component is called
(@) HHWH rimming (b} F5A/Swaging
(c) T&eoT/Perforating (d) eeel/Fettling
4 1400
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14.

15.

16.

17.

18.

19.

ffa@g d ¥ PaaTE Blea Y &7

Which among the following is a forging defect?

(a) 3THIOV/Spatter (b) THR/Scar

(c) IS AZ/Cold Shut (d) 3TN & 3T89Td/Lack of penetration
50 R.FY. & U TMellhR TR ol Y5377 F Hifore 36T ST § | FATYe & JRUR Hr Aies
............... gl

A round bar of 50mm is forged to hexagon. Width across flat is

(@ 35.36 AFH/mm (b) 433 B /mm

(c) 50 fA.#r/mm @ 577/ mm

500 .5, Fa1g, 300 7H.#Y. TS T 50 AT maéawasﬁﬁzafrmﬁa’tm%wmﬁguaﬁ»ﬂa
forar STar 81 3 seara & o fr dars 800 . & A 33 faele i Aers g g

A billet of length 500mm, width 300mm and thickness 50mm is rolled keeping its width constant.
What will be the thickness of the billet if length after rolling is 800mm?

(a) 18.75 fA. A /mm (b)  31.25 AA/mm
(©) 20 H/mm (d 62,5 A/ mm
IHT H NC BT T oo, gl

Purpose of gate in casting is
(a) TTPIH Ifelg g T 81T/ Deliver molten metal into the mould cavity
(b) g RIGH & forT 3mmery & w9 3 %1 ST/ Act as reservoir for the molten metal
(c) Wgpuet &t etfaqfel & Tashet 3 afer ey St
Feed the molten metal to the casting in order to compensate for shrinkage
(@) 3ar AT @ A & ol urg faaika war

Deliver molten metal from pouring basin to gate

Uiday 4.5% $1 2T & TR AT T F. 450 1 AR & A0 et $ wUH 3, 81 wreg @y 3
R THT e

How much time will it take for an amount of Rs.450 to yield Rs.81 as interest at 4.5% per annum of
simple interest?

(a) 3.5 dyrs (b) 4 TWyrs (©) 4.5 aW/yrs (d) 5a¥/yrs
forelY aTerdY €Ty #F ASATHR TIAT FT T F TATTT BT <oeveevvrrvsre FE &
The operation of cutting cylindrical scrap in a sheet metal is called

(a) 9EIUT/Shearing (b)  F/Piercing

(¢) T&guT/Punching (d @9e/Blanking
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20. 3T Y UET Dol F FIT PR P oo o ST TTfeT)

The cutting edge of a chisel should be before use
(a) FONIShd/Hardened

(b <HI/Tempered

(c) ﬁ@fﬂ?ﬁ g ¢qilHardened and tempered

(d e W/Case hardened

21, TUG-TUT coovrerrerreensrenssienessenenes $r ufsar & Fga &

Galvanizing is a process of

(a) 3FATUR/Acid treatment (b) i fEOT/Zine diffusion

(¢) Cu fa@ROT/Cu diffusion (d) W UTEROT fdeigsi/Conversion coating
22. e faer i ull DA W AR A F T F IR oo e B

The difference between upper limit and lower limit of a dimension is called

(@) H ATHR/Basic size (b) "EIAN/Tolerance

(c) 3IATA/Allowance (d) Iaias [ATe=t/Actual deviation
23. Freh AR 7l & AT FET o W RTS8

Milling cutter in a milling machine is mounted on

(a) IAF/Column (b)  STET ERVArbor

(c) SWe/Knee (d) TA/Table
24, TAFE BT oo THE AT IR TeTeT fohdT STem §

Lathe centers are provided with standard taper known as

(a) AV T9UMorse taper (b) Tead TR/Seller’s taper

(¢) TTGHT ¢I/Chapman taper (d) FT3A T Y TAYBrown and sharp taper
25. FHETATT BT coovverreeerreeennnens Fgd & T 0.4% HrET BT &

A steel with 0.4% carbon is known as

(2) gr=ar Elhﬁﬂ-?l'ﬂ's' FEATd/Hypo eutectoid steel
(b) 2133—?!’&3 STATd/Eutectoid steel

(c) BB m SEATd/Hyper eutectoid steel
(d) Twal ATgl/Cast iron
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26.

27.

28.

29.

30.

31.

e seara 1 HET A & aa RRT ST T ST e, & fore @ &

Heated steel is cooled in the furnace itself. The statement is applicable for

(a) oR=/Hardening (b)  E9RET/Tempering
(c) JHeilelel/Annealing (d) SHAEIHIU/Normalizing
122 SO § gaftg g

Quenching refers to
(a) ool & aldel/Heating in oil

(by & H fider=I/Cooling in oil

(c) TdE W Id &M=A/Applying oil on surface
(d) o Fr FwE/Removal of oil

STATH Y 3iESATSE dIAA o diiad R S1aT & 3t aaied @@ & for 3l auae «w®
@I ST &1 978 & 3TaaX aT9H T 9T T ST RTARRT S o, FEA B

The steel is heated to austenising temperature and held at the temperature for sufficient time. This
process of holding at higher temperature in furnace is called

(a) 3cl=l/Annealing (b) <UfET/Tempering

(¢) TRI=/Soaking (d) FSRA/Hardening

11 = SOOI K1 O $r o fasng g

Brass is an alloy of andioopaiwom i

(@) arEr, fesi/Copper, tin (b) I, ﬁ?gﬁﬁ'&ﬂ'/Copper, aluminium
(c) araT, FSieR/Copper, zinc (d) e, WS/Copper, lead

A 10 YeTqol HEAH & T FTAT coooveerrirnines gl

Sum of square of first 10 natural numbers is

(a) 385 (b) 3025 () 55 (d) 770

20 TA S FANISH FTHATATE —oovovvvcvvrenrrrverereorons

A 20 ton press means

(a) TS 1 TR 20 To7 §/Weight of press is 20 ton

() TAdiss 20 T % FF X THAT &/Press can handle work up to 20 ton

(¢) TS 20 T I SIS HTITH FX Hehdl o/Press can exert pressure up to 20 ton

(d) ﬁf‘ﬁﬁ &rsiia 20 77 & fow fPsieua g'lF oundation of press is designed for 20 ton
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32.

33.

34.

35.

36.

37.

The swage block is made of
(a) 3METGaTd Eoldl dlgl/Malleable cast iron

(b) HGFFIA/Mild steel
(c) gaar STITd/Cast steel

(d) YIaei/Brass

lote STTereT Tl ToRaT STl & 318 &1 oo

Forging operation is done when the metal is at

(a) Yucd/Plastic (b)
(c) WA/ Elastic (d)
fardl feTs & qeo-Rud aafeR B @ ...
The square hole at the tail end of an anvil is called
(a) &=/Hom . (b)
(c) &3t f¥/Hardie Hole @

condition

ad/Liquid
efra/Cold

=1 f&g/Punch Hole
Tor=reT f¥/Pritchel hole

Prrfafea P! & & e e 1 Freio 319 3 T saT 87

In which among the following forgings, the metal is kept in the lower die?

WY 313/Closed die
3'q'{17=FFI' H I v 3 s7E1/None of the above

39 YR & AR Y AT HE! § Tordeh gl H@ FUre g1 ¥ 3R Ty g v et ¥ ol

The type of hammer, in which both the faces are flat and which is used for heavy work in smithy

(a) el 313/Open die (b)
(c) U 13/Impressive die (d)
o wgerd o SITem &7

shop is called

(a) ol 91 §#X/Ball peen hammer (b}
(c) el gAT/Claw hammer (d)
SWG FTHER .cooovmnennrcnrceccccns

SWG means

(a) Safety welding glove (b)
(¢) Servicing wire gauge {d)

I 91 §A/Cross peen hammer
Tolgol gAY/Sledge hammer

Screw worm gauge
Standard wire gauge

1400




38.

39.

40.

41.

42.

Rpeht warer fifg et oIk #, Rra Y e & & T feiaf@a # & g ot & 3w

T STarg?

In a single point cutting tool, which one of the following angles is used to guide the chip away?

(2) el PR HIUT/Cutting edge angle (b) 37Tl SIVT/Clearance angle
(c) Y& SIvT/Rake angle (d) 9T FIUT/Wedge angle

faralY TR T 9 3T TR 19T O 31T 81T 87

Weight of a hammer is marked on which part of the hammer?

(a) HG/Face (b)  TIel/Cheek
(c) YiF/Peen (d) €sd/Handle

freTa IHiEROT 42 + 3x + 8 = 0 HHA FIUFA

Nature of the roots of the quadratic equation x + 3x +8 =0 is
(a) HAd/infinite

by a@ faflrse areafas Hel/two distinct real roots

(c) T araide Hel/two equal real roots

(d) AR T2 #el/Two complex roots

Gl I R AT IEUR : S, , 518 e A Plote H g ol ¢
in the die cavity walls permits removal of forging from the die cavity
(a) SfFA/Bender (b) HI/Edger
(c) e/Fuller (d) STF</Draft
T =0 1o 1 RO & fore v SIram &1

Jigs are used for

(2) AU qur Beada & gRie 3% H UR0T W=
Holding the work during drilling and reaming

(b) T T QNOT & ZRIA & T UROT Hle
Holding the work during turning and milling
(¢) & Iy Fr Tdar Hr AT F

Checking the accuracy of work piece

d) A aur et & 2R Tor P 4Ror A AR A-fAdE &
Holding and guiding the tool during drilling and reaming

1400




44,

45.

46.

47.

48.

Cold working of a metal is carried out at

(a) gﬁtm dTIATT & sia/Below recrystallization temperature
(b) gsr:ﬁ:mrrr ATIHTA 9/At recrystallization temperature

(c) gﬁ:ﬁma?r ATIHIT & F9/Above recrystallization temperature
(d) ITeTA-ATT 9I/At melting temperature

6 7,77, s 3R 100 TA.#T. warg & TRl &3 1 225 A Ay oY & v g & oRa g
A& v RfSa s g sa RS aTeaT S e {

A rod of dia 6mm and length 100mm is forged to convert to a ring of mean circumference 225mm.
Diameter of the forged ring is _

@ 2@A/mm @) 25FA/MMm © 4 BHA/mm @ 5@ /mm

Reverse polarity in arc welding means

(a) TIFLIS HUNEHAD &/Electrode is negative

(b) FFEIE GAHS g/Electrode is positive

(c) a% 9N G=ATcHS &/ Work piece is positive

(d) & N AT A TATHS AT FHUNcH® §/Work piece is either positive or negative

mamﬁﬁmmﬁwmﬁmﬁ ........................... Fed gl

The process of improving the cutting action of a grinding wheel is called

(@) $5%/Truing (b)  EfEAT/Facing

(¢) 3f¥9T/Dressing (d) FFaERET/Clearing

ae (98) & ST AT ST oo, T fafde= &

Swing diameter over bed is the specification of

(2) TATRET 7=/ Milling machine (b)  “Y/Lathe

(c) UNuT ALM=/Grinding machine (d)  §rIeT AMeA/Broaching machine
ST FT AR Hifa® aTTA T oo, gl

Lower critical temperature of steel is

(@ 600°C (b) 700C (¢ 723C @ 913°C
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48,

50.

51.

52.

53.

54.

55.

forg aTqAT T & e e [Haar g?

Delta iron occurs between the temperature range of
(a) 400°C Wfto 600°C (b)  600°C F/to 900°C

(c) 900°C H/to 1400°C (d)  400°C Afto 1530°C

o A 6 AT 3, 2 el 3 3R 7 Thg I & | v Tibe 1 oirer 3T, e o Hemrae Rhaei 87

In a bag there are 6 red balls, 2 blue balls and 7 white balls. What is the probability of getting either
a white or red ball?

(@) 1/15 (b) 2/13 (c) 13/15 d 215
TEFI-AIET 7 UTT FTHATS HTHTNT ST T TBR oooovvveniensrnneenns gl

The type of space lattice found in alpha-iron is

(a) THARIFCC (b) SRIE/BCC

(c) UIH/HCP (@ i @Al the above
foreft e arerereaA s 3 fege A frT STarel BEa v gl
In an electrolytic process, the component to be plated is

(a) U=AIS/Anode (b)  HUB/Cathode

(c) WIS/ 3US/Anode / cathode (d) faeYa-HTECH Electrolyte

T R 1o ) SO Fea & oI OX STaTa A WTAT Ui RS A
gfRafda gar gl

The temperature at which structure of steel completely changes to austenite is called
(@) fF=TaT shifde argHsI/Lower critical temperature

(b) &Rt ATIHTA/Soaking temperature

(©) f@'—?ﬂq dI9ATA/Pre —heat temperature

(@) 39T Fifaes aTaATET/Upper critical temperature

SIS 0 O J—— gl

Young’s Modulus of Elasticityis __

(@ wfase/ Ii%’ff?f/Stress / strain (b) ﬁ?ﬁf / 9fcrelel/Strain / stress
(c) wfciaer x fashic/Stress x strain (d) wfaeer + fagpici/Stress + Strain
AT F 3TEF T Fed A F FIARAT SR B AT R e FET B
The process of reduction of iron ore to pig iron is called

(a) WeTel=l/Smelting (b)  JTei/Melting

(c) UASEIUT/Anodizing (d)  JTFEETOI/Oxidation
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56.

57.

58.

99,

60.

61.

62.

frstof@rer wIfSTaT srameril 3 & Rres aR-aR TeaTss 3R Had 318 &1 39T R sar &2

In which of the following forging operations, repeated hammering and closed die are used?

(@ 9T BISied/Drop forging (b) TEAY BIS/Smith forging

(©) FHEFIU/Coining (d) TS BIsieA/Press forging

AT STt 3 e & S & T FlaTS 3R S T 3 oo gler
IR

In heading operation, to avoid buckling, the length to diameter ratio shall be

(@ 13 (b)y 2:3 ) 31 @ 21
RS Y F g Rrafsarar FEA B

The process of beveling end of a hole is called

(a) FWic BIA/Spot facing (by SRS AN/ Counter boring

(c) F5ex fAfFT/Counter sinking d) SafdeT repanning

WRISHE TATSTET &, ...ooccecerecnnresenersenne % fore a1q & gesl 1 IR w5 A R s
In forging operation, scarfing is the method of preparing pieces of metal for

(@) cie¥/Cutting (b) AFEA/Welding

(c) Eiﬁ-aT-I'lBending (d) ﬁT:'FrVSwaging

FoRalY 3T o oiaTg U e F T w AR 23 . ¥) Al 37 IRAW 206 7 &t 37
S E 1 gl

The difference between length and breadth of a rectangle is 23m. Ifits perimeter is 206m, then its
area is,

(@ 1520 m? (b) 2420 m? (c) 2480 m? d 2520 m?

Hot forging lubricants are

(@) Ww1ge INRA/Graphite based (b) AT ITRA/Oil based

(c) ST AW/ Water based (d) oI FTETRA/Lead based
fereiT sleT T M6 x1.5 x 100 & w9 & ReUiRa frar srar &1 d=ar 15, o I gfaa
HA L
A bolt is specified as M16 x1.5 x100. Number 1.5 stands for
(@ 0.5 Ra/pitch (b) 1.0 ™a/pitch
(¢) 1.5Rapitch (d 2 Ma/pitch
12 1400



63.

64.

65.

66.

67.

ot 3 GIFA Flaell TH Tl T B oo

is a drop hammer used in forging

(a) &od gF/Helve hammer (b) T¢I BFR/Trip hammer
(c) Torax-F&yer A/ Lever-spring hammer  (d) a1 §AT/Board hammer

=TT % TRl &3 & Boi & fIT Ter g O T 39T fRT ST &1 It wenetiaRa sar
7500 S 3R EFR G@RT 3RS HUAE a1 15 e E Al oA & TG g
.70, g sreem)

A drop hammer is used to forge a steel rod. If the energy transferred is 7500 Joules and the
downward force exerted by the hammer is 15 tons, the distance the hammer travelled after striking
is mm

@ 5 ®) 50 ) 100 d 150

The process of increasing the diameter of a ring by forging is called
(a) fawsae dedA=7/Skew rolling

(b) = Seel=i/Ring rolling

(c) ST WIslei/Roll forging

(@ 3= Fal-a¥ ATAEIUT/High-energy-rate forming

AT 3R HIAR A TATA BT oo EERT & AT B
The accuracy of micrometer and caliper are checked by

(2) a7 AS/Slip Gauge () e’ A/ Feeler Gauge
(c) ©Celem T/Plug gauge (d) 31 AS/Ring Gauge

TH A 39T FR 6 62 F faw 50 B /e fr 71fy T 3T 30 4 8¢ & o 37.5 Fedae Hr

aifar & Tema| 3 3traa aifa frae &7

Ram drives his car at a speed of 50 km/hr for 6 hours and 37.5 km/hr for next 4 hours. What is his
average speed?

(a) 45 km/hr (b) 4375km/hr  (¢) 55 km/hr (d) 3Skm/hr
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68. ferdll effd B=r &I B BT ...ocvv, g
Edge angle of a cold chisel is
(a) 30 (b) 60 90 @ 120
69. ol 872 & 37eR & ATTHATT & AT T oo T 3UINT foraT AT B
____is used for measuring temperature inside a furnace
(a) H’N—ﬂ?{g?—l’ Y7H/Thermo Couple (b)  YHRTFAEY Thermometer
(c) FHAMFAT/Manometer (d) drRfRRHIEY/Potentiometer
70. TS HHYT (FIe3 AfhaT) 3 FROT FORAT 7 ST BT oo FEAE
Increase in hardness due to cold working is called
(a) T HSR=I/Age Hardening (b) 9RO F3RA/Induction Hardening
(c) ATl FSR/Flame Hardening (d)  TATRAT FBRT/Work hardening
71. TOETE & FTIIT oo, F forv frar srar €
Anvil is used for
(a) TIHe/Casting (b) IRWA/Drawing
(¢) @Id=/Fullering (d Sedd/Rolling

72. 518 31O T A Wi AR FH 3mIae 7 i $ 3ngfd $r e & o g sarer

................... g
When more volume of acetylene and less volume of oxygen is supplied, the flame obtained is
(a) 3erAA/Neutral (b) INFHFHRF/Oxidizing
(c) HIAVI/Carburizing @  3aded WAL the above
73. MNT AT oo EaNT ToiTg AT & |
Cold chisels are made by
(a) @YYT/Drawing (b) SectsI/Rolling
(c) aE=/Piercing (@) WA orging

B 14 1400




74.

75.

76.

77.

78.

79.

80.

forell Bl &1 HTTEY FIC FUROTATT oo giaT Bl
The cross-section of a chisel is usually

(@) |HBOMRI/Rectangular (b) TPR/Square

(c) Miﬁﬂ'ﬂ' /Octagonal (d) qﬁﬁ'ﬂ'ﬂ-lexagonal

AT T e ¥ fafda @ 7

Lathe bed is made of

(a) G FFAI/Mild steel (b)  TAHII-gTaTa/Alloy steel
(c) Tar Mel/Pig iron (d) &olal NgT/Cast iron
FEATT Y FARAT 3T AR oo &1 AT R AR g

The hardness of steel depends on the amount of it contains

(a) heA/Carbon (b) TewY/Sulphur

(¢) WIFBRA/Phosphorous (d) HI/Manganese
FORIG Hleiet AT BT HIAA FECH .coocovvrvversvnrne gl

Essential constituent of a hardened carbon steel is

(@) YUATSE/Pearlite (b) HARTASE/ Martensite

(©) ﬁh—?.’.ﬂﬁ?.’/Austenite (d) RIS Ferrite

HT AT F FAATOT v, # frar amar g1

The pig iron is manufactured in

(a) T 7EV/Blast furnace (b)  9ieg #EVCupola furnace
(c) SUFT HEI/Bessemer furnace (d) Telcar Hg1/Puddling furnace

o 7 & fre aTe &1 3Teret arT feetas 82

Which among the following metals has the lowest melting temperature?

(a) ©3/Lead (b) f&/Tin

(c) dEI/Copper (s)] ﬂﬂﬁﬁﬂﬂ/}\lmninium
Hematite is an ore of

(a) eIE/Iron (b) ﬁ@ﬁﬁ'ﬂﬂ/Aluminium
(c) THAF/Zinc (d) arET/Copper
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F= w1 % fag v / Space for rough work
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